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B\ 1T H 262 270 298 568|T » WM 5 T H 551 567 550 L1178 BT 7 T H 1,272 1, 569 1,412 2,981 |[f AHT3 T H 221 260 232 492
B W 2T H 363 360 374 734|F » WEHTE T H 385 386 413 799|% BT 8 T H 560 662 632 1,294 |/ | 4,654 5,077 5,109| 10,186
B W 3T H 290 327 323 650 =t 9,596| 10, 136 9,999| 20,135(% BT 9 T H 1,283 1,327 1,139 2,466 _{RE1TH 96 97 100 197
1T A 151 145 144 289 |1k e 593 657 655 1,312|K BT 1 T H 118 100 106 206| _{=E2T H 329 371 377 748
2 T A 99 85 82 167(8 E BT 1T H 328 396 379 T75|K S BT 2 T H 510 538 522 1,060| ~{RZE3 T H 282 310 323 633
7 e 3T A 131 156 176 332|% L ET2 T H 617 653 665 1,318 =t 9,483| 10, 689 9,788| 20,477 %24 T H 127 117 125 242
£ L HT 276 251 266 517|% L ET3 T H 1, 580 1,495 1,435 2,930/ 2 BT 1 T H 812 844 845 1,689| ~{& &5 T H 93 109 104 213
%S My 437 420 421 841(%F L BT 4 T H 775 774 741 1,515\{ B BT 2 T H 311 364 332 696 £ 1 T H 78 66 69 135
fip T 207 206 204 4100k M 1 T H 815 927 862 1,789 (] i BT 3 T H 244 263 264 527[R # 2 T H 117 125 124 249
s My 128 109 122 231|x M 2 T H 337 395 410 8053 L M 4 T H 770 704 693 1,397k # 3 T H 122 122 106 228
& K Wy 179 216 204 4200k M 3 T H 735 855 890 1,745/ S0 BT 5 T H 740 725 734 1,459 |18 & A HT 166 151 173 324
#o1m My 426 423 451 874 |4 A 468 445 520 965 |3 3L M6 T H 1,230 1,254 1,261 2,615|t & 1 T H 51 42 39 81
X 7 WA Wy 494 531 509 1,040 |4 g 465 538 548 1,086|{r iDL W] 7 T H 1,149 1,048 1,138 2,186|tH & 2 T H 66 63 64 127
wWw o/ b HT 301 284 294 578|K B N1 T H 276 318 314 632\ L mT8 T H 822 859 746 1,605 & (L 41 60 68 128
KB HT 513 523 529 1,052| K % T2 T H 271 346 339 6853 0 M9 T H 966 829 937 1, 766 |7\ G 1,568 1,633 1,672 3, 305
HimFnMELT H 206 199 211 41004 ¢ 1 T H 600 814 774 1,588yl :BET10 T H 952 785 788 1,573|%& [ 1 T H 305 241 245 486
HimFnmE2T H 251 262 267 52914 ¢ 2 T H 145 198 194 392 7t 7,996 7,675 7,738| 15,413|= W 2 T H 86 90 86 176
HimF1ME3T H 302 358 354 712145 ¢ 3 T H 383 514 448 962/ & L T H 188 194 208 402|% [ 3 T H 195 148 141 289
it 5,016 5, 125 5,229| 10,3544 ¢ 4 T H 613 750 719 1,469k # 2 T H 1,052 1,286 1,209 2,495/ K1 T H 91 103 94 197
B KB 1T H 220 257 252 50914 ¢ 5 T H 521 625 665 1,290 #% 3 T H 372 410 426 836|/N& K2 T H 43 50 48 98
) ARBT2T H 369 390 368 758 E 9,522 10,700| 10,558 21,258|4 H 1 T H 1, 380 1,452 1,476 2,928/ K3T H 170 184 199 383
B K BT 3T H 208 246 257 503|% F M1 T H 493 430 500 93014 2 T H 1, 049 1,077 1, 146 2,223/ K4T H 219 152 219 371
E W 1T H 702 663 677 L340 & #E2 T H 822 769 790 1,559(4 3 T H 880 965 906 1,871|/h& AR5T H 76 79 85 164
E W 2T H 749 837 839 1,676 |3 & #E 3 T H 1,139 1,101 1,112 2,213|%5 # 4 T H 0 0 0 OJE W1 T H 258 168 226 394
E W 3T H 398 495 475 970K F #E4 T H 783 678 675 1,353 #H 5 T H 169 52 145 97|82 R 2T H 248 270 254 524
EW4aT H 796 783 897 1,680 # #E 5 T H 1,035 926 1,007 1,933 B 5, 090 5, 436 5,516 10,952|% R 3 T H 230 175 198 373
E W5 T H 525 505 545 1,050 # #E 6 T H 398 426 395 821 /I & 54,684| 57,346 56,601| 113,947 |/ | 1,921 1, 660 1,795 3, 455
E W 6 T H 224 216 245 4611k » 4 1 T H 402 411 412 823/ 1 T H 345 395 354 49|k K 1 T H 208 161 218 379
E W 7T H 484 492 422 914tk » M 2 T H 777 636 756 1,392/ 2 T H 404 435 446 881l A 2 T H 217 215 160 375
E W 8 T H 287 304 290 594 |G [ BT 1 T H 340 404 388 7920 3 T H 459 506 492 998|pk A 3 T H 100 115 107 222
E W9 T H 4 4 4 8|fifi [ BT 2 T H 748 806 803 1,609 (%0 HET 1T H 209 235 230 465|p A 4 T H 58 54 49 103
K HEET1T H 313 326 319 645|Fifi [d BT 3 T H 601 602 544 1,146 Fn H BT 2 T H 294 295 329 624|pk A 5 T H 79 71 68 139
K HEET2T H 325 302 287 589 |ffi [ BT 4 T H 443 396 391 87\ME A8 1 T B 173 218 206 424|p A 6 T H 37 43 38 81
K HET3T H 352 407 364 771 Rl 7,981 7,585 7,773 15,358 |#E 4 2 T H 178 190 225 415|p A 7 T H 64 71 68 139
K HBTAT H 309 369 352 721|% BT 1 T H 1, 209 1,394 1, 305 2,699 (#E 4 3 T H 189 219 204 423|p A 8 T H 90 101 79 180
K HHET5 T H 305 340 343 683|%1 BT 2 T H 854 967 850 1,817 |4 %6 4 T H 235 261 249 510/ G 853 831 787 1,618
T WEHT L T H 648 683 693 1,376|% ®T 3 T H 1, 560 1,644 1,504 3,148(#¢ # 5 T H 520 608 634 1, 242 | 88 BT & &t 8, 996 9,201 9,363 18,564
T WEHT2 T H 555 575 580 1,155\% AT 4 T H 741 780 802 1,582 |#F %6 6 T H 551 644 576 1,220|& 7t 63,680 66,547| 65,964| 132,511
T WEHT3 T H 400 486 405 891(%r M 5 T H 1,277 1,588 1, 402 2,990 |4 A BT 1 T H 371 408 406 814
T WEHT4 T H 487 503 422 925(%r BT 6 T H 99 120 114 234 |#h AR BT 2 T H 505 403 526 929




